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300 Chi2 / ndf = 9.249e-12 / 0
 16.65 ±Const1   = 286.3 
 0.01625 ±Mean1    = -1.237 
 0.0274 ±Sigma1   = 0.2416 y = -4 cm

 Devation in y between T3 and T2 tracks Chi2 / ndf = 9.249e-12 / 0
 16.65 ±Const1   = 286.3 
 0.01625 ±Mean1    = -1.237 
 0.0274 ±Sigma1   = 0.2416 
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Chi2 / ndf = 3.692e-11 / 0

 15.96 ±Const1   = 312.9 
 0.02645 ±Mean1    = -1.092 
 0.03354 ±Sigma1   = 0.2604 y = -2 cm

 Devation in y between T3 and T2 tracks Chi2 / ndf = 3.692e-11 / 0
 15.96 ±Const1   = 312.9 
 0.02645 ±Mean1    = -1.092 
 0.03354 ±Sigma1   = 0.2604 
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400 Chi2 / ndf = 1.317e-09 / 0
 18.64 ±Const1   = 392.1 

 0.01596 ±Mean1    = -0.9224 
 0.0193 ±Sigma1   = 0.2224 y = 0 cm

 Devation in y between T3 and T2 tracks Chi2 / ndf = 1.317e-09 / 0
 18.64 ±Const1   = 392.1 

 0.01596 ±Mean1    = -0.9224 
 0.0193 ±Sigma1   = 0.2224 
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400 Chi2 / ndf = 2.817e-08 / 0
 19.59 ±Const1   = 387.8 

 0.008278 ±Mean1    = -0.7689 
 0.01019 ±Sigma1   = 0.1786 

y = 2 cm

 Devation in y between T3 and T2 tracks Chi2 / ndf = 2.817e-08 / 0
 19.59 ±Const1   = 387.8 

 0.008278 ±Mean1    = -0.7689 
 0.01019 ±Sigma1   = 0.1786 
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400 Chi2 / ndf = 5.406e-10 / 0
 19.12 ±Const1   = 366.8 

 0.00992 ±Mean1    = -0.5862 
 0.01496 ±Sigma1   = 0.2042 

y = 4 cm

 Devation in y between T3 and T2 tracks Chi2 / ndf = 5.406e-10 / 0
 19.12 ±Const1   = 366.8 

 0.00992 ±Mean1    = -0.5862 
 0.01496 ±Sigma1   = 0.2042 


